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QUESTION 1

Which two statements describe operations performed by the encapsulating tunnel endpoint in an IP-IP tunnel? (Choose
two.)

A. It decrements the time-to-live (TTL) counter by one in the inner IP header

B. It modifies the source and destination addresses in the inner IP header

C. It adds an outer IP header with the destination address of the remote tunnel endpoint

D. It creates and adds a new inner IP header with the remote destination device\\'s IP address

Correct Answer: AC

QUESTION 2

You want to disable MAC learning only for interface ge-0/0/0.0 on an MX Series device. Which syntax will accomplish
this task?
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switch-options {
no-mac-learning:

bridge-domains {
bridge-domain-name |
domain-type bridge:;
interface ge-0/0/0.0;
bridge-options {
no-mac-learning;

bridge-domains {
bridge-domain-name {
domain-type bridge;
interface ge-0/0/0.0;
bridge-options -
interface ge-0/0/0.0 {
no-mac-learning;

}

switch—options {
no-mac-learning;
interface xe-2/0/0.0 {
no-mac-learning;
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A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos/topics/task/configuration/layer-2-servicesmac-bridge-
domain-or-logical-interface-disabling-learning-for.htmi

QUESTION 3
Click the Exhibit button.
[edit protocols ospf]
userfrouterf¥ show
reference-bandwidth 100m
area 0.0.0.0 {
interface ge-1/0/0.0 {
interface-type p2p;
b
interface ge-3/0/0.0 {
priority 128;

b
interface xe-0/0/0.0 {

interface-type nbma;

Referring to the exhibit, which statement is correct?

A. Interface ge-3/0/0.0 has a default metric of 10

B. Interface xe-0/0/0.0 can only form a single adjacency
C. Interface xe-0/0/0.0 has a default metric of 10

D. Interface ge-1/0/0.0 can only form a single adjacency

Correct Answer: D

QUESTION 4

Click the Exhibit button.

Latest JNO-362 Dumps | JNO-362 PDF Dumps | JN0-362 VCE Dumps 4/6


https://www.geekcert.com/jn0-362.html
https://www.geekcert.com/jn0-362.html
https://www.geekcert.com/jn0-362.html

VCE & PDF https://lwww.geekcert.com/jn0-362.html
2024 Latest geekcert JNO-362 PDF and VCE dumps Download

GeekCert.com

Area 1

.

2]

{

— —rin —

\ 10N A0\ =,
I\J_ h;ﬁ \JL/ “Detaut Route

You are asked to configure OSPF for the network? Referring to the exhibit, how should Area 1 be configured?
A. stub area

B. totally stubby area

C. not-so-stubby area

D. backbone area

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/configuring-ospfareas.html

QUESTION 5

Click the Exhibit button.
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[edit]
user@routerl# show protocols ospf
area 0.0.0.0 {
interface ge-0/0/1.0 {
interface-type p2p:;
bfd-liveness-detection {
minimum-interval 300;
multiplier 3;

}

[edit]
userl@router2# show protocols ospf
area 0.0.0.0 {
interface ge-0/0/1.0 {
interface-type p2p;
bfd-liveness-detection {
minimum-interval 400;
multiplier 3:

Referring to the exhibit, if there is a connection failure between routerl and router2, how much time will pass before the
devices declare the BFD session dead?

A. 1200 ms
B. 300 ms
C. 600 ms
D. 900 ms

Correct Answer: D
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